
USN 17MAT1tr

Max. Marks: 100

module.

First Semester B.E. Degree Examin Feb./Mar.2022
Engineering Math ics-!

Time: 3 hrs.

Note: Answer any FIVE full questions, ONE fult
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17MAT11

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

(07 h{arks)

(07 Marks)

(06 Marks)

(07 N{art<s)

in 20min" The temperature of the air being

after 40min lrom the original? (07 Marks)
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a. Find the A_
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0

(06 Marl<s)

(0T lVIarks)
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b. Reduce the matrix A =

c. Find the inverse

into diagonal form.
_J

ur :9vr * 6vz

u2 = l0v1 _ 2v2.
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c: 3 hrs. \,lirx. \lari<s. i()(t

1\'ott:: ,'ltt,stvcr on-y p11",r.filil questiotrs, t'lroosirryg O,\'E.firli qua,stion.{i'*s:t r:*t'h tnotlttle.

h{od ule- I
ft. \\1hat is Pscudocode'l Write a Pscutlococlc to find the arca o1-lr crrclc (10 )tariisr
b. \\,irat is variable'l l:ixlriain hor,v to clcclare and inrtiaiizc a varjablc. (05 ]tarii:)
c. \\"hat is an operator'l Irxplain rlif'lbrcirt rclations opcrators r,i'ith exanrplc (05 )llri,;r,)

olt
iI. \\'lttt is an Algorithrn'l \\iritc an algorithrn to corl'lltrrlc thc area iil'r.cct;.lrr,lc. (t(i -ltlriirr
[t. Explarrr the 

'lbnraltccl Input/Output liurcttorrs rvith its synlax alcl cxantirl,i. (10 ]l:rr.tst

Nlndule-2
a. What are the diflcrcnt tbrtrs of ifl-stanclard'l Lrxplain an1,'ilr,o rr'itlr s-i.nLar. llorr, charl lrrrri

crltnrpic. (l2llarliri
b. \\'r-itc rL C'-prout'r,ur to Iurcj the sunr oIcligits ol'a qivor intcgcr nirnrbcr. ({ttt ]tlrtiri

oR
a. l-rrpiain su,'itch statcmcnt uith its svnlax. (lorv charL ancl crrnrltlt. ({}tt }tlrlir)
b. Explain tirc dif tcrcnce bclrvccn r,i,hilc and do-u,irilc lotrps. (06 \tar"tr.s)

c. \\'r'ite the clil'f'erence bett,eeu brealt anci continue statenrent:i. {()(r )llrii:)

['lodule-3
a. \\/hat is an ARRAYI l:xplain the clil rcnt \\,a),s of inrtraljzing an onc rlinrcrrsionirl urrar

u'ith an erarnple. (t0 ]lurks)
b. \\Ihat is a fuuction? \Vr:tc a tunctional program to lind tltc srrn-r r)1'tu,o nLrnrl-rcrs. (10llrirl*r

olt
il. \\rith an eranrplc l)r()grallr crplain clilltrcnt paranrctcl'1-rirssinlt tcchnitirrcr to u lurrctrorr

([0 ]llu.li:;i
b. \Vhrrt is a stringl'f:,xplain any fir,e string hanclling tirnctions'] (l(]]larli:i

Nloclule -4
a. What is structurc'/ \\trite a program using structlu'e to rcacl thc cnrpkrl,crc dctlrils srrcl.i a:-,

cnrplovee nuLnbcr. nanle and salary of each crrploy,cc ancl display' total sularv ot'ail lhc
cn-tp1o1'ccs. ( 12 llar-lis)

b. l:rplanr anv firur fllc hancllrng fiinctions. (otl llarksi
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OR
e. i rpllirr tvith an eran'rlrlc pr'oqraur horv lo pass strLrctrlre lo a lirnction. (0tt \larks)
b. l'.rpluirr .trLrcl-rrlc ri'ith in ir strltcture rvith an crar-nple. (05 \larks)
c. Wlrrt i:, r lrlc'l I'rxplain drlfcrcnt modes of flle rvith an exarnplc. (07 r\{arks)

Module-5
e. \\irat is li pointcr'.) I:rplain hor,r, tct declare anci initralizc ar ltointcr variablc. (08llarks)
b \\'hir1 rs cl_r,nnnric nrenlrry allocation? lixplain the clil'l'erent dynanric nremorv allocation

lirnr:tioi',. (08 \larks)
e \\'iut is:tacl<'l frxplain clilltrent opcrations pcr'lbrmecl on slack. (04 \Iarks)

ot{
lu. \\ hat i-s.r (]Lrcucl)lr.r.piain clif.l'ercnt ol)cratrons pcrtbrnrccl on (JLrcr-rc. (04.\'tarks)

b. l:r;llitin thc clrl'l-clcnce betiveen static menlrrv allocation ancl dynarnic mcl'lrorv allocatron.
(0ll \larhs)

c \\1lrat is lr n-riicro? \Vrite a program to lrnd thc sclLrare ol'a nurnher r-rsing n'lacros. (08 \'larks)
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The flux per pole is
and iii) The shaft

a. Define and derive an expre

b. Derive an equation for the
voltage, cuffent and power

c. With a neat figure, explain
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te: i) The speed ii) The Torque developed by armature
(08 N{arks)

Module-3
ssion for root mean square value of an alternating quantity.

(06 Marks)
power consumed by an R-L series circuit..Draw the waveform of
and draw the phasor diagram, (08 Marks)
pipe earthing. (06 Marks)

1 ^f ')

@ffiw
First/Second Semester B.E. Degree Examination, Feb./Ma y.2022

Basic Electricat Engineering
Timc: 3 hrs. Max. Marks: 100

Note: Answer any FIVE full questiorts, choosing OhtE firll question from eoch module.

Module-l
I a. State and explain Kirchhoff's Laws as applied to D.C circuits. (06 Nrarks)

b. Define the co-efficient of coupling and find its relation rvith L1, Lz and M. (061\{arks)
c. In the circuit shown in Fig Ql(c), what is the voltage across AA if (i) Switch S in open and

iii) Swirch S is closed.

6

c.

looV
l)o

a.

(08 Marks)

(06 Marks)
(06 Marks)

respectively
i) Cunent in

b.

2[)O and 30f) resistor ii) The voltage across the whole circuit iii) The total power and
power consumed in all resistances. (08 Nlarks)

a.DefinebackemfofD.Cmoto,'*nuffiificance?(04Marks)
b. With a neat sketch, explain the construction of the various parts of a D.C generator.

(08 Marks)
c. With a neat figure, explain the construction and working principle of a dSmamometer type

Watttneters. (08 Marks)



6 a.

b.

c

iii) Total power factor. Draw the

7 a. Derive the emf equation of
b. Show that the two W

expression for the
c. When three bal

8a.

A3 pole, 50Hz
i) Synchrous ii)

rotor at stand

..i

a. -tlxplam
b. A single phase

The net
to 500V 5

induced in

c. A single phase

tull load of 600kW

are sufficient to
in terms of

are connected in across a

(08 Marks)

(06 Marks)
phase power. Also derive an

(08 Marks)
3 phase 415V, 50Hz supply.

b

a.

b.

in each 50A.

9

(08 Marks)

(06 Marks)
(06 Marks)

% at full load.

) Frequency of
(08 Marks)

(06 N'larks)

at 0.8p.f has an efficiency of 94oh at both three fourlh
the efficiency at half full load, unity power factor. (08 Marks)
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Ic, :

explain the input
OR
ancl output

TELI{15/25

2022

Marks:100

module.

m common
(08 Marks)

(05 Marks)
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Time:3 hrs.

Note: Answer any FIVE full q

I a. Draw and explain the VI -
b. With neat circuit

c. Derive the

ttansistor if IB : 1

2 a. With
trase

b. with

a characteristics of a transistor

c )

working alfwave rectifier. (08 Marks)
(04 Marks)

versal gates

OR
fulI adder circuit by using two half adder circuits. (08 Marks)

(06 Marhs)

3 a.. What is op-Amp? List
b. For the base bias

B 
: 60, VsE :0.7V

c. Explain with

4 a. With neat circuit
b. Find voltage

fbedb stance Rr:
C, riefly non-in inverting and yoltage follower circuit using operation

(09 Marks)

5
1 (?),0 iii) (FA876)ro: (?)z

t6 vi) @CDE)ro: (?)a (09 Marks)

for 2 variables with truth table (06 Marks)

c. Realize ANI), OR, NOT using

6 a. Explain half adder. Design the

b. Simplify the following :

i) Y = A BaDnEscP +aseD + esdo
ii)Y=AB+AC+tJD+CD.

c. Pertbrm the following :

1) (22 - 17) by using 2's complement method

ii) (1 10101 10)r - (01000101)', bv usins I's comolement method. (06 Marks)
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7a.
b

8a.

b.
c.

9a. Explain the
b. Explain the

c. A 500W 1

of
powel

10 a, Define modulation. Derive
the wave forms.

b. List the differences
c. What is transducer?

(08 Marks)
differential transducer's

(06 Marks)
signal of lKHz, the dePth

the side band, sideband
(06 Marks)

litude
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gated SR - flip-flop.
(08 NIarks)
(12 Marks)
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3

4

5

Second

Time:3 hrs.

Note: Answer

x = 0. (Use direct

c. Obtain the solution

IT}IAT2I

r.2O22

Max. Marks: 100

module.

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)
(07 Marks)

(06 Marks)

(07 Marks)
fllrd the singular

(07 Marks)

(06 Marks)

(07 Marks)
(07 Marks)

from z = tflll.\z )
(06 Marks)

1 and z: 0 when

(07 Marks)

(07 Marks)

^ ^l

dimensional heat equation * = t' : ! by the rnethod of& ax'
separation of for the positive constant.variabtes

,%,.isB::
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